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U.G. DEGREE EXAMINATION —
DECEMBER 2023

Business Administration
First Year
PRINCIPLES OF MANAGEMENT

Time : 3 hours Maximum marks : 70

PART A — (3 x 3 =9 marks)

Answer any THREE questions.
Explain the principles of Organizing.
Binieuarsslen QameTeanssamer 6llaTs@s.

List out the benefits of training.

uuwlp&ufler perenosaner cuflanaLiLi(hds)s.

State the nature and scope of planning.

S L 1Bl(Hged et SETELD HOILD Crméasid
Qg Fueudans Fams.

What is meant by Scientific management? Explain
1ts objectives.

<fleflwed / aflepeprar Gy cTemmTed ETETET ?
et Chrésmsamen 6l6rs@s.



10.

Explain the needs for coordination.
emEdamartiL Csamael — cfleTésaLb.

PART B — (3 x 7 =21 marks)
Answer any THREE questions.

Explain the different types of plans in detail.

uoCGeaum cuanswnar S L kisemer allfleurs allerd@s.

What are the features of Organising.

Blmieuard /| SenIer ObFBSET WTenel ?

Explain the Henry Fayol’s theory of Modern

Management.

Qamerd LGWTeler paiar Cuoerarennsd Cariumip —
elaTsGs.
Explain the selection process in detail.

Caitey QFwe wpapearw allfleurs allers@s.

Discuss any two functions of management in
detail.

Cueramenouler gGsaid @reawm®H GFweoumbhaamer
eilfleuns elleumdlés.
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11.

12.

13.

14.

15.

16.

17.

PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.

Explain the various levels of Management.

Cueramepouller LievGeum Hlanesaer allars@s.

Explain the features of importance and
Controlling.

s HUUGBSHSO6T SETEDEET WLHMID (PSS LISSH6ULD
ubdl elerd@s.

What is Training? and explain the various
methods of Training.

Luins  erermmed eremer?  CGgyd gem  LieGeumy
(PEODSEET 6T(LPSIS.

Briefly explain the process of Communication.
sseued Ogmmder Oeweaapennm UDH FHHESHOTS
T(PGIS.

State the importance of departmentation?
slapLiLbhSgs0er (péHlwsgiaisHeaar of(HSg e sHs.
What are the factors affecting Span of
Management?

Cueramenn  upliLemenel  UTHE@GL — sTrenilsdr

wimeney ?

Explain the advantages and disadvantages of
Centralisation.

@LWLILIHES6T Bemannsem WLHNID Seowser LibHM
ollemd @ s.
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UG-C-2187 BBA-13X/
BBAR-13X

U.G. DEGREE EXAMINATION —
DECEMBER 2023

Business Administration/Retail Management
First Year
FINANCIAL AND MANAGEMENT ACCOUNTING
Time : 3 hours Maximum marks : 70

SECTION A — (3 x 3 = 9 marks)

Answer any THREE questions out of Five questions in
100 words.

1.  What is double entry system of book-keeping?
@rie.  udleypen sansGshisear  Lgmofliy

GTGITMITG) GTEITET ?

2. Define Trial Balance.

@EBUUTLG| — cUapTWIm).

3. What are Liquidity Ratio? Explain with example.

Brenn  Nfgmiser  wreamel ? T (hSSISSTL (B Leir
cllaTsGs.



4. Write a short note on Cash Flow from investment
activities.

WS Hsatadl(Hhgl Qrrés  BLML LD Wis)
SniENiy euemys.

5.  What is meant by Key Factor?

Key factor ereruigesr Guimmer wimg) ?
SECTION B — (3 x 7 = 21 marks)

Answer any THREE questions out of Five questions in
200 words.

6. What are the objectives of Accounting?

sasSlwedlen @H&Cameraer wmg)?

7.  Prepare the Profit and Loss a/c for the following

particulars.
Rs.
Gross Profit 68,000
Rent received 12,000
Interest received 4,000

Stationery and Printing 13,000

Discount paid 6,000
Manager salary 25,000
Wages paid 5,000
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Epsar  elurhismers Qsmemh  @eomu  BUL
sasSleears swmisEsalb.

CIB.
Qurss Gamub 68,000
aUmLens GLuHg) 12,000
aully GLHDG) 4,000

9IFF 6T CLIm(meT 13,000
seT@pLIy Slefldsg) 6,000
Cuevmerit sardluilb 25,000
go.all Gegisglug) 5,000

From the following information, Calculate
(a) Current Assets (b) Current Liabilities and
(c) Liquid assets

Current ratio 2.8: Liquid ratio 1.5: Working
capital Rs. 1,62,000

Epsar eleurmsefladBhg (=) BLLL Qendgiéser
(=) BLUy  Qummugser (@) Siews  Csrgg
Cumermeunhern sarésd (hs.

BLUL ofdlgd 2.8 Biew Nlgb 1.5 pedL(penm
(WS em. 1,62,000
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From the following data, calculate the cash from

operations.

Funds from operations

for the year 2018

Rs. 84,000. Current Assets and liabilities as on
1.1.2018 and 31.12.2018 were as follows:
1.1.2018 31.12.2018

Rs. Rs.
Trade Creditors 1,82,000 1,94,000
Trade Debtors 2,75,000 3,15,000
Bills receivable 40,000 35,000
Bills payable 27,000 31,000
Inventories 1,85,000 1,70,000
Trade investments 40,000 70,000
Outstanding expenses 20,000 25,000
Prepaid expenses 5,000 8,000
19 6breu (HLD ellupriseiedl(mHg! @wsssH e (mHS)

Qurésd saréss(Hs.

2018 b Y&THSSTAT QUGS

Hlg e 84,000 1.1.2018 wHMID 31.12.2018 b
Breperul BLULE CQgrsg whmib Bl Qummiliger

Gereu(mLomm)

auamfls sLaibCsmi

cuanlla sLarmeflger
QuusHE&Iwu LIHYESL [
Qeaisgsn@ilu LTIHHE 6
Fr&S(mUY

1.1.2018 31.12.2018

{h- b-
1,82,000 1,94,000
2,75,000 3,15,000

40,000 35,000

27,000 31,000

1,85,000 1,70,000
UG-C-2187



1.1.2018 31.12.2018

GEROERY 40,000 70,000

Qarhur Ceuaiguw QFaa|ger 20,000 25,000

pensnl g Aegsdu bewaisd 5,000 8,000
10. Murugan company manufactures 21,200 units of

“A” and 27,400 wunits of “B”. Prepare the
production cost budget for 6 months from the
following data.

Particulars Product “A” Product “B”
Direct Materials per unit Rs. 6 Rs. 10
Direct wage per unit Rs. 3 Rs. 4
Factory overhead Rs. 42,400 Rs. 54,800

wp@ser Blowd ‘e eearm  GQumrmeilenar 21,200
Sv@GsHeT wHMID ‘@’ ey Gumrmailanar 27,400
SV GSET 2 Huss Qelidlermg. 966U (pLd
urrisefadl(pbg 6 wrssdoarar 2 HusH eure| —
Qewe| L gdmars surhss.

SlLIprhigeT Quim(mer Quim(mer
Cririg epeoliGummeT (gif ¢ 6 ¢h. 10
A0S HS)

Crrg gael (f DodlHE) eh. 3 eh. 4
e Goablaws CFwe|ser fh. 42,400  @h. 54,800
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SECTION C — (4 x 10 = 40 marks)

Answer any FOUR questions out of Seven questions in

500 words.
11. Prepare the Journal and Ledger for the following
particulars:

2018 March Rs.
1 Start business with cash 80,000
Machinery purchased 27,000

3 Amount deposited at bank 13,000

4 Commission paid 700

5 Goods purchased 16,000

6 Goods sold 26,000

7 Wages paid 4,000

22 Rent paid 5,000

24 Carriage inwards 600

26 Commission paid 600

Yereupd eflurmseiedmhg @GMUCUH wHmID 2 M
CuGrhsamer swmfésea]b.

201'8 -
[l
1 Qrr&sb ep. 80,000 2 Ler Qgmifd
SHIGUMIGILIL L G|
2 Qupdlyd Asmeiipsed Cewss) 27,000
3 cuiigludled enauliLy QFigg 13,000
4 sfle) CsT0Sss! 700
5 &78@ QaTeTIpse 16,000
6 F78@ efpuear 26,000
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2018

OMiTE
7
22
24
26

g6l QFa)sdlwgl
aurLens Oeassluig
STETGNGGHE Fon6)

sl deqisdlug

€.

4,000
5,000
600
600

12. From the under mentioned balances, prepare a
Trial Balance as on 31.3.2018.

Cash in hand
Purchases
Opening stock
Sundry Creditors
Machinery
Wages

Sales

Furniture

Bills Receivable
Salaries
Capital

Bills payable
Sundry debtors
Rent

Rs.
4,000
4,80,000
1,40,000
96,000
2,40,000
64,000
8,04,000
60,000
80,000
80,000
4,00,000
88,000
2,00,000
40,000
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13.

Spsranid GbriLsalambs)
@muuricieer swmiés.

asull(pLIL CrT&Esh
QameTps
QsT_ds Fr&sl(mLL
upLe sLatBCsmiT
eTHATD

Fe60l

L er

oG GTIL 6tfl Wl 6T

QuusHENu LIHNES [

FLOLIGTLD

P

Qeisgsn@flu wrHn&s 6

UHLIQ &L ermertlger

QUML_oN&

From the following

31.3.2018 b BTE»aTL

€.
4,000
4,80,000
1,40,000
96,000
2,40,000
64,000
8,04,000
60,000
80,000
80,000
4,00,000
88,000
2,00,000
40,000

information, prepare a

summarised Balance Sheet of XYZ Co. Ltd for the

year ended 31.12.2018.

(a) Working Capital

(b) Reserves and Surplus

(¢) Bank overdraft

(d) Fixed Assets/Proprietary ratio

(e) Current Ratio
(® Liquid Ratio

Rs.
60,000
40,000
10,000

0.75
2.50
1.50
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Qereupd  ellurmiseaiadmpg, XYZ &  Gameler
31.12.2018 (D BI@HLET (Plg@MID  S(H&HSLOMTET
@muybleas oy swumilss.

€.
(Sl)  BOLPE®D (LPSHEd 60,000
(<) smoy whHmid 2 ufl 40,000
(@) eumdl Cudouerl LiHmy 10,000
(m)  BHleved Qersg/saflyfaw aldsid 0.75
(2) BLUY efdlsib 2.50
(2ar) Bieno cldlsLd 1.50

14. Prepare

a statement showing sources and

application of funds for the year 2018 and a
schedule of changes in working capital from the
following balance sheet.

Liabilities 2017 2018 Assets 2017 2018
Share 2,00,000 2,50,000 Land 2,00,000 1,90,000
Capital

General 50,000 60,000 Plant 1,560,000 1,74,000
Reserve

Profit and 30,500 30,600 Stock 1,00,000 74,000
Loss alc

Bank Loan 70,000 — Cash 500 300
(short Debtors 80,000 64,500
term)

Creditors 1,50,000 1,35,200 Bank - 8,000
Provision 30,000 35,000

for

Taxation

5,30,500 5,10,800 5,30,500 5,10,800
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Additional Information:
(a) Depreciation was written off plant Rs. 14,000
(b) Dividend of Rs. 20,000 was paid during 2018

(¢) Income tax provision made during the year
was Rs. 25,000

Gemeumd @ mUiLbledevd @GOGl (mhg 20189,b
gparigHaTer Bl sTrEseT wHmD  edlammenTiiLib
WHmILD Qeweur () APOS TS 6 gHu®Lbd
LOTHM &6l 6o O L QU ERTEn Wi STL_(HID
SdsmaEmWS SUTTES6D.

QUi s 2017 2018 @sndgibee 2017 2018
uRG Wse 200,000 2,50,000 S-igld 2,00,000 1,90,000

50,000 60,000 @updlrmsd 150,000 1,74,000

28580

Qaomu — 30,500 30,600 ETES@®UY 1,00,000 74,000

BLL &WT&HE

70,000 —  Gyrésn 500 300

SL_aTrer &eT 80,000 64,500

281580

sLafBGsmt 150,000 1,35,200 o - 8,000
aufléamar 30,000 35,000
5,30,500 5,10,800 5,30,500 5,10,800
&y

(<) Qumdllesr Bsrer Cauibmard er 14,000

(<)) 2018 — & umsTETWD CGaTHSsg m 20,000

(@) 2018 -—-@& eumpoTer ufdsTer @ &S0
eh 25,000 G LD.
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15. From the following information relates to a
flexible budget at 60% capacity. Find out the
overhead cost at 50% and 70% capacity and also

determine the overhead rates.

Expenses at 60%
capacity (Rs.)

Variable overheads:
Indirect material 6,000
Indirect labour 18,000

Semi-variable overheads

Electricity (40% fixed, 60% 30,000
variable)
Repairs (80% fixed, 20% 3,000
variable)

Fixed overheads

Depreciation 16,500
Insurance 4,500
Salaries 15,000
Total overheads 93,000
Estimated direct labour hours 1,886,000
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Gereupd  eflugiiger  GpSlpeym  ege] Ggwey
S L_gSer 60% QameTerarailn (s,
QarsslILlHaTerg. DeuDHanar &gl LTSS
Qarem® 50% woHmid 70% Csmerere] SneisE eure]
Qeeweys S surisg CuopOswe) cissHamanb
SATES (.

60% QsmeTeTerey

Smafer Cgaaser

(em.)
wroLBHb CFae e
LEMPS eLpeLIELm(meT 6,000
LL@DPES &nell 18,000
uGd wrnUBHL e ser:
Wlengsd (40% dlene, 60% 30,000
rmILIHLb)
upgiumiiy (80% blene, 20% 3,000
rmILEILD)
Blenewd Caveger:
Cauinmend 16,500
CUNI(C) 4,500
FLOLIGTLD 15,000
0. NBD CFea & 93,000
erglrumisasinr L Gy 1,86,000

2 anipliLy (wenfl Grybd)
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16.

From the following Trial Balance extracted from

the books of Vinoth, prepare Trading and Profit

and Loss Account

and Balance Sheet as on

31.12.2018.

Debit Balance Rs. Credit Balances Rs.
Cash at Bank 2,610 Creditors 4,700
Book debts 11,070 Discount 150
Salaries 4,950 Outstanding salary 400
Carriage inwards 1,450 Returns outward 2,520
Carriage 1,590 Sales 20,410
outwards
Bad debts 1,310 Capital 40,000
Office expenses 5,100
Purchases 7,350
Return inwards 1,590
Furniture 12,300
Stock 14,360
Depreciation 4,500

68,180 68,180
Adjustments:
(a) Closing stock Rs. 10,000

Credit 5%
doubtful debts.

(b)

13

on debtors for provision for
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- el Ganmg e L5853 Bibg)
GMsQsH&sLILI L Mleieu (mLd (OGN
Camganarudled mnbs) 31.12.20181b BT (@G LI
ellwumumy wHmib @eru BLL sardd@ WHMID @) (mLUiL
Blevas@DiL swmiés.

upo @By e aire) Uy -

auidl Qnuy 2,610 SLeHC 4,700

SL_GTerl&er 11,070 SeT@E@HLIg 150

FLbLIeTLD 4,950 @srhuL Geudimiqw 400

FLOLIGTD

2 dTEGES 06 1,450 @euafgdmuiim 2,520

Geuaflgné@s snell 1,590 elpuener 20,410

QUIITESL_GHT 1,310 s 40,000

DIV EE 5,100

Ceeveyser

QameTpse 7,350

o 67 HmULLD 1,590

wearoraflumhsd 12 300

Fr&Slmuy 14,360

Cauinmend 4,500 -
68,180 68,180

sflal_(Hsoaser:

(=) @Qmé er6$mLiy ep. 10,000

(<)) sLamaflser LS@J 5% gussLer STy
2 _(1H6UTE&HE.
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17.

The sales turnover and profit during two years
were as follows:
Sales Profit
Rs. Rs.
2014 1,40,000 15,000
2015 1,60,000 20,000

Calculate:
(a) P/V Ratio
(b) Break-even point
(¢) Sales required to earn a profit of Rs. 40,000
(d) Fixed expenses and
(e) Profit when sales are Rs. 1,20,000
@rear® < arhaErssTar elldHLemer wHmLD @eruLb
Murmsear EGp QarOssLiLl (Hererng.
clpuewer @evmuid
- -
2014 1,40,000 15,000
2015 1,60,000 20,000

STES () &:
(S) @eru ojere] l&lsb.
(<) sflawblere wpdleyliyaraf.

(@) @ermud em. 40,000 Y& QHEGL  Gurg
ghuBb NhHueer

(FF)  Hlevevd Cawe|sar
(2) efbueer ¢5.1,20,000 %5 QMH&EGL Gurg
ghuBD @eruLb.
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